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% BASELINE ¢ ..

BN 10x5=__ PN 6x3=__ &y /x7=__
BN 4x4=__ P 2x1=_ & 8x1=__
EN2x5=__ BB 1x9=_ = 3x12=_
N 12x3=__ B 8x5=_ e oAx11=_
B 12x12=__ = 6x8=__ = 10x8=__
™11 x12=__ ¥ 9x2=__ ME 12x11=__
BN 8x6=__ PR 1x3=__ B 7x6=__
BN 10x3=__ B 11 x8=__ B 10x9=__
EN5x6=__ =y 8x12=_ By 7x4=__
B 12x4=__ EW 2x10=__ E¥ 6x11=__
By 12x3=__ BN 42+7=__ BN 45+5=__
B 36+12=__ BX 32+8=__ B 12+3=__
By 84+7=__ By 5+1=__ B 56+8=__
i 12+6=__ BN /72+8=___ E¥ 30+10=___
B 100+10=__ E¥ 50+10=_ B¥ 36:9=
¥ 6e0+6=__ E¥ 42+-6=__ B¥ 99+11=__
B2 /70+7=__ BA 14+2=__ B 22+2=__
¥ 63+9=__ E¥ 16+4=__ E¥ 121+11=__
ey 21+3=__ EEN 25+5=__ By 12+4=__
EW81+9=__ Y 72+6=__ Y 40+4=__

seore: /60 1) ¥

(5 minute limit)
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Name: MULTIPLICATION 1

Date: Practise 2s, 3s, 4s, 5s, 6s, 7s, 8s, 9s, 10s, 11s, 12s
EN6x8=__ By 4x7=__ By 5x1=__
BN 3x10=__ B 1 x11=__ B 10x3=_
E¥ox12=__ BBy 12x11=__ B 12x2=

M ox9=__ A 5x7=__ Py 1x5=__
B /x7=__ B 11x2=__ B 12x7=

B A4x12=__ B 8x5=___ a3 3x4-=

BN 1x12=__ BA 10x7=__ By 7x9=__
EN8x4=__ EFYy 12x2=__ By 9x2=__
EN 12x8=__ EEYy 9x10=__ Ey 6x9=__
Y 11x6=__ EW 7x12=__ Ey 8x3=__
BN 3x7=___ EN 1x11=__ By 8x12=__
B 2x6=__ Ed 6x9=__ By 9x4=__
EEYy 10x8=__ E¥ 1Mx6=__ By 8x6=__
B 12x12=__ Ef 8x4=__ Ed 11x6=__
B 4x7=__ EB 2x8=__ B 7x1=__
3 ox6=___ Ed 2x9=__ B9 10x4=___
B2 11x9=__ EA 7x6=__ BA 8x11=__
Y 11 x5=__ ERN 4x1=__ By 7x12=__
By 7x8=__ E&N 3x8=__ By 3x11=___
B 8x12=___ N 6x2= ¥ 4x8=__

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
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Name:

Date:

N _ x9=27 By x10=80
B 10x___ =80 B x3=3
E¥_  x6=54 BBy 4x_ =48
| _  x4=24 B x4=36
B_ x8=064 B x2=16
M 11x__ =55 EF 10x__ =40
B 1x__ =9 Bl x6=60
B _  x12=96 BEY = x3=30
EN _ x6=12 BEEYy _ x3=9
B x3=27 Efy 8x__ =32
B Oox__ =54 EN 11x__ =121
B x11=121 EA 8x__ =96
EEY 4x__ =48 EEy _ x10=90
B x4=40 EA 11x__ =66
B x3=18 E _ x3=30
B x2=24 Ed 6x__ =24
B 7x__ =56 Bl x6=66
By x12=96 EEl _  x5=10
EEY 10 x =120 &y x2=22
x8=72 By x9=90

Q—Qg SCORE: |

MISSING NUMBER 1

Practise 2s, 3s, 4s, 5s, 6s, 7s, 8s, 9s, 10s, 11s, 12s

1Tx =4
_ x3=24
8x__ =80
_x7=35
10x =100
5x_ =20
Bl x4=48
_x10=40
_ x9=81
__x7=56
_x10=20
6x__ =54
5x__ =25
7x__ =42
2x =18
_ x8=56
12x =72
9x__ =81
_ x7=7
By _ x4=32

Grown-ups:

Can learners spot links
between neighbouring
questions?
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ame: DIVISION 1

Date: Practise 2s, 3s, 4s, 5s, 6s, 7s, 8s, 9s, 10s, 11s, 125
W 40+4=__ BN 24+-6=__ By 22+-2=__
By 14+2=__ By 54+9=__ gy 100+10=
Ey44+11=__ BBy 56+7=__ By 18+2=
ma-2=__ A o-1=__ ;m 9+9=__
B /2+9=__ = 12+-1=__ s 27+9=

M 32+8=__ g 18+9=__ & 10+5=

BN 121+11=___ B /7+1=__ By 22+11=

B 30+10=__ Y 90+9=__ [y 88+8=__
EN 48+12=__ BBy 42+7=__ EEy 56+8=__
o 84+12=__ EW 30+5=__ Ew 72+12=__
By 77+-7=__ EN 18+6=__ BN 28+4-=

P 25+-5=__ A 4+-2=__ B 18+6=__
B 30+3=__ ey 21+3=__ By 9+3=__
Iy 88+8=__ El¥ 48+6=__ B 16+2=__
= 18+6=__ E& 40+10=__ B¥ 18+6=__
3 16+-8=___ E& 9% +12=__ B 16+2=___
BA 22+2=__ Ed 72+8=__ B 45+9=__
B 42+-6=__ E;¥ 45+9=__ BEY 30+10=__
I e3+9=__ EE¥ 12+3=__ BY 24+8=__
W 42 + 6= W 28+7-= By 33+11=__

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
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% CHECK1 ..

EN2x12=__ BN 5x2=__ N 11x12=__
BN 4x8=__ B 1x3=_ B 7x11=__
EN3x6=_ R 7x6=__ EEY 3x6=__
m1x7=__ 7 x8=__ Ey 7x2=__
BN 8x5=__ B 5x3=__ B 11x2=__
Mm8x10=__ B 2x7=__ 9 4x5=_
BN 2x12=__ Bl 8x6=__ EF 10x5=__
B2x3=_ B 10x3=__ = 10x3=__
EN2x4=_ By 4Ax12=__ EEY 1x6=__
B 12x1=_ EW 7x7=__ E¥ 5x2=__
By 3x1=_ Bl 22+11=___ BF 9% +12=___
X 132+-11=__ Bx 27+3=__ BX 49+7=__
EE¥ 100+10=___ EE¥ 30+6=__ Bl 12+4=__
Y /70+-10=__ ElN 72+8=__ Bx 18+9=__
= 36+4=__ ES¥ 36+3=__ E& 40+10=___
@2:2=__ EF 48+6=__ Eg 120+10=__
B7Z 30+10=_ BA 42+7=__ EA 66+11=__
¥ o6+8=__ E&¥ 15+3=__ B 48+12=__
X 32+8=__ EEY 64+8=__ BY 5+5=__
By 16+8=__ E¥ 12+12=__ Y 14+2=__

seore: /60 1) ¥

(5 minute limit)
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Name: MULTIPLICATION 2

Date: Practise 2s, 3s, 4s, 5s, 6s, 7s, 8s, 9s, 10s, 11s, 12s
B /x12=__ B 8x2=__ By 8x9=__
BP¥1x3=__ By 12x5=__ By 9x4=_
Ey6x10=__ BBy 3x3=___ By 11x9=__
N 10x8=__ A 8x3=__ P 9x6=__
B /x10=__ B 5x3=__ g 9x6=__
mox1=__ g 2x8=__ B 1x12=__
BN 7x9=__ Bl 3x5=___ Bl 9x4=
E¥5x3=__ By 9x10=__ By 2x5=__
E¥ 1x10=__ BBy 8x2=__ EEYy 3x5=__
¥ 5x5=___ EW¥ 12x9=__ By 4x4=__
BN 12x2=___ El 4x5=___ BN 2x8=__
B 2x6=__ EA 8x4=__ B 9x9=__
By 4x8=__ EY 11 x12=__ By 3x5=__
A 5x6=__ EAd 8x1=__ B 12x2=__
B 7x4=__ EB 9x2=__ B 11 x10=__
B 8x1=__ Ed 3x7=__ Ed 6x6=__
B 6x8=__ Bl 2x3=__ By 7x11=__
By 3x2=__ ERN 4x6=__ BE¥ 12x6=__
By 3x4=__ E&¥ 6x10=__ BY 10x8=__
EW1x9=__ I 6x8= B 10x12=__

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
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MISSING NUMBER 2

Practise 2s, 3s, 4s, 5s, 6s, 7s, 8s, 9s, 10s, 11s, 12s

Name:

Date:

B 1x = B 3x__ =27
BN 2x__ =16 By /x__ =49
By /x__ =42 Bl x4=4

x2=10 A o6x_ =18
Box___ =99 BB x4=44
[ 6. ] x7=14 ¥ 8x___ =8

x1=7 Pl 9x___ =54
By 10x =20 By x4=32
EN11x__ =66 BEYy 2x__ =6

o /7x_ =14 Ef 3x__ =9

Byox__ =18 ElFN _ xX6=6

B x5=25 EA 8x__ =96
EEYy 12x__ =36 EEf 5x_ =20
A 6 x =48 E _ x2=2

& 9 x =45 EF 2x__ =10
x12=284 Ed _  x9=9

B x10=30 B 4x__ =40
I x6=18 EB} _  x7=42
By x8=16 x4 =40
x7=28 x5=10

5x_ =15
B x11=132
 x11=77
_ x9=63
1Tx =6
8x__ =32
__ x8=64
_x2=4
_ x12=132
8x__ =88
Mx_ =77
_ x4=28
_ x3=33
/x__ =35
3x_____ =9
_x1=1
Ox__ =72
_x11=88
__x10=30
BY _ x5=50

Grown-ups:

Can learners spot links
between neighbouring
questions?
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ame: DIVISION 2

Date: Practise 2s, 3s, 4s, 5s, 6s, 7s, 8s, 9s, 10s, 11s, 125
m/2+12=__ B 4+-4=__ By 24+2=__
BN 18+9=__ By 40+10=__ gy 80+10=__
EN32+8=__ BBy 36 +9=__ ey 40+10=__
M 15+3=___ 3 10+-1=__ M 36+6=__
B o°%+8=__ = 144 +12=__ B 11+1=__
™ 20+10=__ B3 8+4=__ | 16+4=__
Ego+2=__ BA 84+12=__ By 36+4=__
By 2/+3=__ By e-6=__ ey 56+-7=__
EN49+7=__ BBy 121 +11=__ EEy 35+5=__
o+3=__ EW 64+8=__ E¥ 18+6=__
B 10+1=__ EN 54+9=__ B¥ 30+10=__
Py 54+-9=___ ey 72+-6=___ By 48+8=__
B 120+10=__ EEY 16+2=__ BEY 36 +3=__
M 36+3=__ EN6+3=__ BE¥ 9%6+8=__
= 16+4=__ ES 24+-8=__ B 48+6=__
& 21+3=_ Eg 33+3=__ By 44+-11=__
BA 22+2=__ EA 81+9=__ B 84+12=__
B 32-4=__ E¥ 10+10=__ B¥ 10+2=__
Y 35+7=__ EEY 12+6=__ BEY 33+11=___
By 32+8=__ w 12+2=__ BEY 15+3=__

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
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% CHECK2 ¢ ..

EN3x10=__ BN 2x2=__ N 7x9=__
BN 1x9=__ Py 4x12=__ B 6x/=__
EN2x4=__ =Y 7x3=__ &y 5x3=__
Zm1x8=_ 2y 8x8=__ 2y 5x10=__
BNox2=__ s /x5=_ =5 11x8=_
m|7x2=__ By 9Ox11=__ ¥ 10x11=___
BN Ox1=__ B Ax4=__ Bl 5x8=__
BN 8x3=__ B 4x2=__ By 6x4=__
EN6x11=__ B 2x11=__ By 1x2=__
By 3x9=__ EW 11x4=__ EW 9x2=___
BN 5x9=__ EN 16+2=__ BN 2+2=__
A 54+-6=__ B 7+1=_ BX 45+9=_
I 90+9=__ E¥ 6+3=__ B 120+10=___
Y 15+3=__ EN 32+8=__ B 36+6=__
= o0+10=__ E¥ 12+3=_ E¥ 15+3=_
= 72+9=__ E¥ 20+10=___ E¥ 24+6=__
B2 30+6=__ EA 12+6=__ Ba 77 +-11=__
B 70+7=_ EF 16+4=__ EY 11+11=__
Eer8+-1=_ EEY 42 +-7=__ By 9+9=__
BEX21+7=__ EW 84+7=__ BEY 32+8=__

seore: /60 1) ¥

(5 minute limit)
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